Yjamato

M & & B B

Instruction Manual

2R 2EREV Y
2-NEEDLE DOUBLE CHAINSTITCH MACHINE

AZ7920G

AZ7500G-8DEURERIAE C AENRLD This instruction manual only includes the
HozRRHL TVWET, different adjustment from AZ7500G-8.

FREGOERICH> TR, FF & Before using your AZ7920G, please read
AZT7500G-8DEURFIARAEZHETREFXTE  this book in combination with instructions
HAWCIEE, RAZELCERELTMBIELS  of AZ7500G-8, and understand the contents

BEVWCEETWL, well.
. BTmACE>BIE. BEWICES After reading the instruction manuals,
AHBNDOTHRENBETBIRELTS please keep them in a location where it is
2SN easily accessible to the operator.

\. J

% YAMATO SEWING MAGHINE MFG. CO,LTD,



H XR/CONTENTS

1. EULWEWE 1
£ 11 F—7D®UA 1
£2. TIVORE 2
& 21 2EIREVOSHRATF 2
8 22 2EBRVOIL—/CRATF 2
£ 23 FROFE 3
2.4 HOBEE 4
2.5 e 28RIL—N 5
2.6 HIOEHDBDRE 6
3. & 7
1. Proper operation 8
@\ 1.1 Setting tape 8
£ 2. Adjustment 7
£ 21 Needle thread tension for double chainstitch 7
£ 22 Looper thread tension for double chainstitch 7
£ 23 Adjustment of folder 8
. 2.4 Adjustment of needle height 9
2.5 Needle and double chain looper 10
2.6 Adjustment of presser foot lift 10
3. Specifications 11
% % % ILLUSTRATED SPARE PARTS LIST % * %
(B . . ™
EFEVL & This instruction manual has been prepared
OF &R ELEMERFICERSNTNEIHN mainly for engineers' use. It is, however, rec-

ZDEAR—IHHWTWBHBR. SYYEX  ommended that the items marked with JON
DEBENNERLTEDIE, ANL—F DD be read by operators as well for the proper
FATWELEZWERTY, use of the AZ7920.

EEbDH

FHIRUBHREICED, FHABRETETICEHNBDET, ZORICIR. FBORAE L UHBEREO—HH, FURE—
BUBWEEABDETOT, BSMUHTTERILEEN, Fio, FEOERICH > TRFLEPLTHEDETH, F—DED
PN ENRRINTHEBRBETEAVWIEABDET,

Attention

The description in this instruction manual is subject to change for improvements of the commodity without
notice.




1. ELWMEWE
1.1 F7—70@LE  fE

F—71EH 1-1 D k) IhmE N I T OIS L BAICE
HIZEST I EBTEET,

—

B 1-1

(MWK 1-2DE5F—7THAL FANEL TS, TRIELTLEZ Y,
R)YER» S - T — 7Dk E., FTEFIEPICEIEHL., T-7P4vnoREickozt 2 ATHIOD
TIRANTLEZ W,

RIS B

FTHBHN
iz gl ¢

F—7

— O

BUBA S H N —




2. SVYDEE

=
AIE =
G’F%’E'T'Bﬁﬁ‘& WMHIE—FDERZYD. TE—FDREFELEZEELTILEZIW, >

2.1 2EREVDERIAF

FARBEODIEMEMBE X, ILRFPODHLEEY—I7QEN
BOIETT,

2 ERESRE(LE)DDOBEMEME X, #HEIRD Eatoit
., 2EBOHABAFICRZIICEHIZROET,
HiZIERPOEED TITET,

RV @OREMEIX. ARV @R D FHiICHZ &
E. RV HDERER)DAR®ICLA > IMEBETT., HF
HFIER PO BEDTITVET,

QKB M URIRY 2 L SIAICE)L T LERBEA X T,
Q@LERVRBRY 2 T HEICEDT LR ED £7,

2.2 2EREVDIL—IVRIAF

RFFH 2OQOEH@IKFIC o7 L &, ZXAEBDHRIK
QDO THZEH LOHEHB EFA—ICEbETLE X\,
FREAGE ZREBDARRODOFLD S 1 mEicébe T
S a-2N

TN AEBEBOOEENE IZEROFLZ E2 OO P ED
¥IETT,

Q@ X KHEDBE L AMICEIDT E L — S R0EARFT,
Q@ “LHEB®E T HEICEINT ENL— %0 FEE D £,

2-3

AZ7920G 2



A
1

Ui
\

%'I’:l
Fi

AEE

CVF%’ET'BEM:\ DYE—FOERED. E—5DEEGEFELEEERLTILEIW,

2.3 EHDFHE 2

EHOBAMITNEIZT— 70D FETF—TiRBICk>THhrED 9,
F—7DWYHITLINEL R EEIR, EHOOTHOF—7HRITO@$E LA L D TickoTw3 Z L 2HER

LTCEE N,

F—7DIVIRBICEHLET, XAOEEMBEDHML T EI W,

BENMUE
ETFuBEIREHEOD TR O@%#HKO Lk b Ficd
HETLEZ N,
EAMBIRADHED > S ERODT — 7RIFTODEE T%
35~4dmizcky FLET,

HEE ERE D TS E S L) T — 7HEw E2D
(K 2-6)2857Dlz, 7—7RKIOADETDEZK 2-4D
51205~ 1micey FLET,

FEFEROZD LEERDICEITTL EZ 0,

REnAE

FHOOEAMEIZ. FXPQ2BOTCHMTEET,
EHRODO ETFMEBEELEEOEE I, IEFPQ%ED CHfiT
%ij_o

ERE
F—7E25mOEE, EEORVEND FEENS
35~ 4mOMBELOHHRENET. (H2-5)

0.5~1m
X 2-4
3.5 mm~ 4 mm
5mm N
I
=
i
L1y
Py o ?
57
Fi
I
i
: I
/\/—\{/
X 2-5 .

Fep T =74 VI OWiH

) —)
A O

2-6

AZ7920G



N
1
\'l
\
S
g

ERZTSHIC. BIE—FOERZVD. E—FOEEEFELZERLTILIW,

C | AER

2.4 #HOES

(DIERPOZED. ade—2HOZES L TL &,

C)EFVOERAL T EIV,

(3)7—VREIL#EL2RERICL T EE Y,

(A DI DR ED, $HEEZ ET I CHEIL T
RN,

HiEIE LR L E, R EAE & D A E COEEES
8.1 ~84mz LT &,

S — -3

= =

HERFOIEXI@ODFT ML IE 1.5N-m(15kgf-
cm)T9Y,

2-7

8.1 ~84mm

2-8

AZ7920G 4




\]
i
\
S
i

GF%%?‘T’JEMC\ DTE—IDERZD. E—FDOEIBELZHERLTILE W,

2.5 gtE 2ERIL—IN

gt 28RIL—INDYALZVT

2EENL—ODIE. V=B E LA — Dl HY 7
SZCEIVBRED £7,
2EBENL—SOQDREMRD L E, £ 2EBEHOOH L
LED 2BBRNL— O E TOERE 2.0 ~2.2mic % %
Xz, W—REOILZCOEBEOTHEL T,
IDLE, 2EBRL-OQIN2° OAEE Y TL—
NROEZZODTRIED LTE E, L — 3560 L #oiga
BRI s, 2BBEL—ROFIEZHFAGHGLET,
ED2EBEBLV—OOFTEPREIE. HEWIZAD2E
BL— QD5 IJEDRED £7,

e 2 BERIL—/NDRTEME

znFno 2 BBV —SO@DFMM, $roEMZEET 2
LEF, BT AL TELRRIEDIFTLER Y,
ZFLTC. N—2PEDPLENEIL EEOV—NOTFMEICEH DS
ThaEE)Nd, #HPEL—NOEHDSEL DAREIARE
CBENTOLBEIZADLETLER Y,

2-9

X 2-10

AZ7920G



N
1
\
S
%LI‘I
ik

N ==
AIE I%\
(1’E¥’E"T5ﬁﬁli\ WHTE—YOERZTID. E—FYOEEEIEZEZLTILEIN,

2.6 T LHD =DERE

o bk2h)BIZRA3.5mTT,

(Hay 7+ y FOZEHT, LFPOEREIHIEICEL T
&,

CZBEA L v QDR PAORVOEED T I\,

BB L AA-@ZMLTIFT. WKEZ K & T
LT, #MREEEYD 3.5mmbic LT #EEw,

(DI H3.5mEN-7REET, ROl N—
@D THEIZETTLEZ N,

BGyay 75 v FOERRMODAITTL &,

(6 H3.5m b o/ RET, WIB® MR -y
N@E0.2mDT EMERITTLEI N,

(TIFZHIA b v "@DIER PORVOEMOMFITLEE  go1l
Y,

X2-12

AZ7920G 6



3. fHg

B i} AZ7920G
s B < ik | 380 (R) x245 (iF) %310 (&) mm
- = 27kg
i P BIEERG . SERE A
# H @ KX ISO#tE (401 - 401)
H & —RARED R 7 v Mg T — I IRECH
& T E EE  7,000rpm
e H kK & 1.0~4.0mm

AR

11(25.4mm)A 6.5~258f

30mmfg 7.5~30%f
MR w OB R45P I
e B /3] 25m7 — 7 iE=10m(#R%E)
&t =1 5mm
fift H &t DCX27 A X#9~#14(65~90)
oA buw—7 23.7mm
fxx kD & A 3.5mm
e - T TyyaRy vER

. - BRARIEZB(EDREY) 1:2.3

S B AR ZEE (i L%i%w; 1:0.7 :
Zz B & Y NS L AN—% ET T35 2 Ik b HERFOFHE S AlRE
O A Ik 2 A7V TY v AYIC K BIRGRET IR RE
Z{E 1 T TARFFHRMBDOF AR, EXRIZEBEASSHDOF-2 R
M o® W | vehSFA4L28
g il gy 900cc
HoW® h . Faaf PRy 7k 2 i@Eflfam. B Gz
/I S R S B -~ S WA E St/ =

AZ7920G



1 . Proper operation

1.1 Setting tape g.%

Cutting the tip of tape as shown in Fig. 1-1 makes
run the tape through folder.

-

Fig. 1-1

(1)Run the tape through folder after through the tape guide. (Fig. 1-2)

(2) Gently pull out the end of tape backward. Then, insert it under the presser foot after

folding it in four.

AAAAAAA



2. Adjustment

/A WARNING
( )

Before making adjustment, ALWAYS turn OFF the motor switch and check that the motor has already stopped.

2.1 Needle thread tension for double chainstitch

At the standard position of needle thread eyelet
@D, the mark® lines up to the center of screw
@.

Set double chainstitch needle thread eyelet (left)
@ to make needle thread being level with eyelet
@ at the highest point of needle bar. To adjust
it, loosen screw®.

At the standard position of needle thread pull-
off®, its portion®@ for thread pull-off lines
up to the eye® on needle thread eyelet (right),
when the pull-off® is forward completely. To
adjust it, loosen screw®.

@® Moving needle thread eyelet and needle thread
pull-off to the direction “T” tightens the
thread tension.

@ Moving them to the direction “L” loosens the
tension.

Set the bottom of eye@ on looper thread eyelet@®
to line up to the surface@ of looper thread take-
up@ when the surface@®@ is being in level.

Set thread retaining finger@@ at the point 1 mm above
the center of eye(@® on looper thread eyelet@®.

At the standard position, the center of slot on
looper thread eyelet@ lines up to the center of
screw@®.

‘@Moving looper thread eyelet® to direction “L”

loosens the looper thread tension.

@®Moving it to direction “T” tightens the tension.

Fig. 2-1

Fig. 2-3

AZ79206



2. Adjustment

efore making adjustment, ALWAYS turn OFF the motor switch and check that the motor has already stopped.

C /AWARNING
B

2.3 Adjustment of folder IS8

The position for installing the folder varies according to folding style and the tape width.
If the tape is folded uneven, make sure lower tape outlet@ of folder® is set lower than the

surface of stitch plate.

Adjust the position of knife (trimming width) according to finishing width of tape.

Standard installation position

For up—and-down position, adjust folder(D so that
its lower tape outlet® is set below the surface
of stitch plate.

For the right and left position, set folder ® to
make distance of 3.5-4. 0 mm between the right needle
and the inmost part of tape outlet of folder(®.
For the tilt, to obtain finish with the tape sewn
wider on bottom (narrower on top, see fig. 2-6),
adjust folder so that its lower tape outlet is set
closer to stitch plate for 0.5-1.0 mm than upper
outlet. (Fig. 2-4)

For the adjustment, loosen screw®) and tilt folder
@ to left up direction.

Procedure

@®Loosen screw® to adjust the right—-and-left po-—
sition of folder.

@Loosen screw® and adjust the up—and-down posi-
tion and tilt in right and left of folder.

NOTE
-~

With the tape width 25 mm, right needle stitch is on the
line 3.5-4.0 mm from the right edge at standard. (Fig. 2-5)

N

Stitch plate

3.5

~4mm

W

0.5~ 1mm

Fig. 2-4

ping point

Needle drop-—

3. 5 mm~ 4 mm
5 mm

6________

TTape

Fig. 2-5

=) —==)
A O

Tape Section drawing: tape folded in four

Fig. 2-6

AZ7920G 10




2. Adjustment

Before making adjustment, ALWAYS turn OFF the motor switch and check that the motor has already stopped.

/A WARNING
g )

2.4 Adjustment of needle height

1.Loosen screw@ and remove logo plate®.

2. Remove screw(®.

3. Rotate machine pulley manually to position the
needle bar at the highest point.

4.Loosen screw(@ and adjust the needle bar in up

and down.

Fig. 2-7

Set the needle height from the top surface of
stitch plate to the tip of right needle to 8.1-8.4
mm at the top of its stroke.

NOTE

The tightening torque of screw on needle bar connecting
bracket is 1.5 N = m (15kgf = cm).

Fig. 2-8

27920G
11 A



2. Adjustment

Before making adjustment, ALWAYS turn OFF the motor switch and check that the motor has already stopped.

2.5 Needle and double chain looper

Timing
Insert double chain looper(D and @ to looper holder

/AWARNING
¢ )

and the height of them are fixed by their touching
to the bottom of holder.

Loosen screw® and adjust looper(D and @ to make
the distance of 2.0-2.2 mm between the center of
left double chain needle® and the tip of left
looper @ at the leftmost point of their stroke.
On this adjustment, tighten screws® and @ on
loopers to fix looper O and @ temporarily with

the angle approximately 2° , and adjust the dis—
tance between needles and loopers@® and @ with Fig. 2-9

adjusting the front—-and-rear position of the tip

of loopers and needles.

The position of right double chain looperD is set
automatically according to the distance between
needle and left double chain looper®).

Front-and-rear position

The tips of loopers@ and @ pass behind of needles
as closely as possible without contact. The looper
pass in front of needles as contact slightly with
their curved portions® on the ways of loopers
right to left.

AZ7920G 12



2. Adjustment

( /AWARNING
B

efore making adjustment, ALWAYS turn OFF the motor switch and check that the motor has already stopped. )

2.6 Adjustment of lifting amount of presser foot

The maximum lifting amount of presser foot is 3.5

mm,

(1)Loosen lock nut@® and rotate screw®@ clock—
wise.

(2) Loosen screws@ and & on stopper® of presser
foot arm.

(3)Push down presser foot lever(® and make bottom
surface of presser foot to be in parallel with
the stitch plate and to be 3.5 mm above the top
surface of stitch plate.

(4)With presser foot is lifted up 3.5 mm, rotate
screw® counterclockwise until its top surface
contacts presser foot shaft lever®@.

(5) Tighten lock nut Q.

(6)With presser foot is lifted up 3.5 mm, make the
clearance of 0.2 mm between presser foot arm®
and stopper @ .

(7)Tighten screws@® and & on presser foot arm
stopper @ .

13

AZ7920G



3. Specifications

Model AZ7920G

Dimensions 380 (L) X245 (W) X310 (H) mm

Weight 27 kg

Construction Dust—proof, 0il-tight and completely sealed

Stitch Type

IS0: (401 - 401)

Application

Piping operation of pockets with woven fabrics

Sewing Speed

up to 7000 rpm

Stitch Length
Number of stitches
per inch(25.4 mm)
per 30 mm

1.0 — 4.0 mm

6.5 — 25 stitches
7.5 — 30 stitches

Sharpest curve to be
sewn

Radius: more than 45 mm

Sewing Width

25 mm of tape width — 10 mm (standard)

Needle distance

5 mm

Needle System

DCX27 Sizett9— #14 (65 — 90)

Needle Stroke

23.7 mm

Presser Foot Lift

up to 3.5 mm

Feed Regulation

Push button system

Differential Ratio

Max. Normal Differential (Gathering) 1:2.3

Max. Reverse Differential (Stretching) 1:0.7

Differential Feed
Regulation

Adjustment during the rotation is also available by lifting and lowering lever.
Differential feed can be easily and quickly adjusted by lever or micro—adjuster.

Knives for Cutting
fabric

flat type, made of special steel
flat type, made of super hard alloy

Lower Knife :
Upper Knife :

Lubricating 0il

YAMATO SF OIL No. 28

Capacity or 0il

g 900 ml
Reservoir
Lubricati Automatic lubrication system
ubrication Forced fed by gear pump in combination with splash lubrication
. Table top type
Installation Semi—submerged type or fully-submerged type
AZT7920G

14




ILLUSTRATED
SPARE PARTS LIST

AZ7920G



AZ7920G(1)

18

AZ7920G



AZ7920G EXCLUSIVE PARTS(1)
L —

YTEFILEEBR(T) 1

RefNo Parts No. Description m % Amt. Req
1 300040 Washer Ty 1
2 000933 Rubber Cushion(Medium) X EE () 1
3 2150301 Chaining Looper Thread Eyelet(Rear) —ZEBI/L—/CHRE(R) 1
4 0093528 Looper Thread Pipe Stay FB/IRATET 1
5 0021735 Looper Thread Pipe P SEIAG v 1
6 000340 Nut Fvk 1
7 2150303 Tension Disc Eyelet TERFATAAE 1
8 006543 Tension Post RIATE 1
9 0020124 Tension Disc “EBARTI 2

10 0020125 Double Chaining Looper Tension Spring ZEE AT F/\R 1
11 0020126 Tension Spring Bushing “ERAREFF Y MEYIEX 1
12 000182 Adjusting Nut FEFw b 1
13 000932 Rubber Cushion(Large) A EE(K) 1
14 2150304 Double Chaining Looper Eyelet “XAE 1
15 2150302 Chaining Looper Thread Eyelet(Left) ZEBIL—/CRE(E) 1
16 150005 Screw(M3-0.5 x 3) ERY 1
17 2150283 Needle Thread Pull-off gy 1
18 2150313 Upper Knife Holder(Flat Type) EXZRILY (3F) 1
19 0022963 Tape Guide Stay T—7HAREZT 1
20 0022981 Tape Guide Stay Shaft FT—T7HA RETH 1
21 110009 Screw(M4-0.7 x 8) (=8 1
22 003638 Screw(11/64-40 x 4) Exy 2
23 0022982 Tape Guide F—THAR 1
24 2150310 Needle Thread Eyelet(Left)(Double Chain) —EE# %8 (A) 1
25 110001 Screw(M4-0.7 x 8) Exy 1
26 0030255 Tension Spring(Double Chain Thread) #HABEF/IR(ZER) 2
27 2150312 Folder Bracket RS 1
28 110041 Screw(M4-0.7 X 8) IERY 1
29 2150311 Folder T 1
30 000665 Washer A 1
31 110104 Screw(M4-0.7 X 8) xRy 1
32 2150334 Spacer AR—H 1

AZ7920G



2
AZ7920G(2)

AZ7920G



AZ7920G EXCLUSIVE PARTS(2)

—

YTEFLESHBRER) 2

Ref.No Parts No. Description m 4 Amt. Req
1 2169114 Needle Clamp(C) g1k X 1
2 2150300 Needle Clamp Eyelet #ik A RE 1
3 110122 Screw(M2-04 x 4) ERy 1
4 2157422 Presser Foot, C. Set(C) I (HH) 1
5 110004 Screw(M3.5-06 x 8) XY 1
6 006092 Screw(1/8-44 x 7.3) Exy 1
7 2157426 Presser Foot Spring W IFHBh/R 1
8 0026140 Presser Foot Hinge Pin Hreyyry 1
9 004136 Screw(1/8-44 x 2.7) kXY 1

10 0035087 Presser Foot Chip HIFy~/ 1
11 001228 Screw(3/32-56 x 3.2) Exy 1
12 2158001 Stitch Plate £k 1
13 2159006 Auxiliary Feed Dog JaE 1
14 2159005 Main Feed Dog &ix\ 1
15 2159004 Differential Feed Dog [:1pED, 1
16

17 2159203 Needle Guard(Front) #H=Z4 (80 1
18 2159201 Needle Guard(Right)(Rear) 2T (H) () 1
19 2159202 Needle Guard(Left)(Rear) #HZ T (E) (#8) 1
20 140010 Screw(M4-0.7 X 6) IRy 1
21 2121113 Lower Knife Clamp TAZHT 1
22 2121111 Lower Knife TAX 1
23 2150305 Lower Knife Holder TXARE 1
24 2120536 Double Chaining Looper Eyelet ZERIL—/ERE 2
25 2109302 Double Chaining Looper ZERIL—N 1
26 000035 Positioning Pin UBRAEY 1
27 2150306 Double Chaining Looper Holder ZERIL-/A 1
28 160003 Screw(M5-0.8 x 3) kxR 1
29 2150307 Looper Holder Cover I—IRE AN~ 1
30 110009 Screw(M4-0.7 x 8) Exy 4
31 390672 Threading Chart REVE 1
32 390673 Threading Chart{Left) B YR(E) 1
33 2150308 Chip Guard(Openable) MBZE K 1
34 2150731 Front Cover AR 73 /8— 1
35 0035094 Presser Foot(Small) Guide MR HAR 1
36 0035097 Presser Foot(Small) Spring MBI /RR 1
37 009730 Screw(1/8-44 x 4.5) xRy 1

AZ7920G



P/N 9730187 (P/I/H)

No.1 Edited in 2007.3
(AZ7920G)

djamato

YPVRED VEERAER
YAMATO SEWING MACHINE MFG. C0,LTD

4-4-12,NISHITENMA, KITA-KU, OSAKA,JAPAN
TEL : 81-6-6364-1321 FAX :81-6-6364-1307

T530-0047 RERFEAXEXRBL4TEHIEFIZS
TEL(06)6364-1321(f) FAX(06)6365-5176

Printed in Japan 2007.3.1H®



	目次
	CONTENTS
	[P1]   1. 正しい使い方
	[P1]   1.1 テープの通し方

	[P2]   2. ミシンの調整
	[P2]   2.1 二重環縫いの針糸調子
	[P2]   2.2 二重環縫いのルーパ糸調子
	[P3]   2.3 定規の調整
	[P4]   2.4 針の高さ
	[P5]   2.5 針と二重環ルーパ
	[P6]   2.6 押エの上がり量の調節

	[P7]   3. 仕様
	[P8]   1. Peoper operation
	[P8]   1.1 Setting tape

	[P9]   2. Adjustment
	[P9]   2.1 Needle thread tension for double chainetitch
	[P9]   2.2 Looper thread tension for double chainstitch
	[P10] 2.3 Adjustment of folder
	[P11] 2.4 Adjustment of needle height
	[P12] 2.5 Needle and double chain looper
	[P13] 2.6 Adjustment of lifting of presser foot

	[P14] 3. Specifications
	ILLUSTRATED SPARE PARTS LIST



